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OZEXE SYUA(AR) 400,000 = 1CH 400
EAEZMA 1,500 20,800 A 19,300
401 AIEHI L 2CHYI 1,500 20,800 A 19,300
01 A&l 1,500 20,800 ~19,300
OsZ) H&asSsEX & 1,500,000& 14 1,500
FOIHEOIALS 30,678 0 30,678
272 FHISA 30,678 0 30,678
401 AIEHI L 20 30,678 0 30,678
01 A& Bl 30,678 0 30,678
O+=3=2 228812 €& 022 =&
18,700& =1, 140m 21,318
O=&z 220812 23 0lnNgex =&
60,000 *68 " 4,080
O=&z ¢& 5 0|HZ =20 =&
8,000& *660m 5,280
HE2HZH (AMEIS) 80,619 78,089 2,530
el 2l 38,259 35,729 2,530
ol 2AH| 38,259 35,729 2,530
101 124 dl 38,259 35,729 2,530
03 RIAHAZZ2TE = 38,259 35,729 2,530
Os=0dH FA2el & 38,259
—Jlzs
(1,994, 130& «18 )+(2,012,580& 112 ) 24,133
— WS A 90,000 »12& 1,080
— ZE SO 2,012,580% *100% 2,013
—AESHIEXE+Y 430,000& 4= J| 1,720
—JIE=E 130,000& 128 1,560
—N22RLY
(9,260 x 12 +9,340% 112 )« 1. 581 x15A] 2+ 2,520
~gY22sg
(9,260 * 12 +9,3402 « 112 )« 1,58 *BA| 2+ +2 2,688
ol
— XY 9,340& *8BAl 2+*25 1,868
—dTHEEZ 37,582,000% *18/1,000 677
Jl= &l 42,360 42,360 0
JlE&l 42,360 42,360 0
201 £B-2dH| 16,200 16,200 0
01 At 22l 16,200 16,200 0
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2N NESE
M HYRHBH (MEIS)
@2 Jl2&tl
SA-EB B (BH) - MRAY - B il
OFAMNM2gH| 80,000& 9 x12& 8,640
OPIE=r=2=3:] 70,0003 x9H x12& 7,560
202 04 b 16,200 16,200
02 20| 16,200 16,200
O ¥l 150,000 x9H x 12& 16,200
203 ¥ R =&t 9,960 9,960
01 J|2A2F PR =Y 6,600 6,600
OJ|#2d9d2F&8Y| 550,000& *12& 6,600
02 RAIIAMHRFAH| 360 360
OFJAINNMA R =AY 40,000& x9H 360
04 ENESIHRF=AY| 3,000 3,000
ORN2II2F&Y| 250,000& x12& 3,000
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= o
A & 0l & AF 2 E A A
20148 & 204 LEHSIH L IIEISESH =3P HIXNAY ~ AES
2N EBHEIS
A NYXXEH dA2elZ
Chelr XYXXISM &H42el (&)
2 S 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
BHE1s 525,666 448,076 77,590
< 788
Al 524,878
A& XX EH & 0122l S 1,576 0 1,576
< 788
Al 788
N YIRS &2 3| 1,576 0 1,576
< 788
Al 788
HIASANSEEN =& 1,576 0 1,576
< 788
Al 788
101 @124l 220 0 220
< 110
Al 110
04 JIZHHZ2Z2XNESE S+ 220 0 220
OHM63l M= AXNLENH JIZHZZ2A 22
40,0003 1 +5.5< 220
< 110
Al 110
201 Let249] 996 0 996
< 498
Al 498
01 At 22/l 996 0 996
ON6sEl MISAXNLHAN HRFZR det=>ZH|
621,660 622
< 31
Al 311
OMeal d=SAMALEN I2FA S|
7,000& *10.672+5H 374
< 187
Al 187
202 04l 100 0 100
< 50
Al 50
01 = LH 4 Hi 100 0 100
OHN6zl d=sSAXNLEH dRFE 04l
10,0003 x5H »22 100
< 50
Al 50
203 B R =&l 260 0 260
< 130
Al 130
03 AIMZ=XH R =AH| 260 0 260
OHesl MISAXNLLHN HRF=AH|
65,000& *43] 260
< 130
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2AM: HEIS
3 N IR EH
S NY XIS

SzelZ
A 2elZ

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
1] A T30
EBHE1s FUXNXMEH 2 431,072 358,490 72,582
FOXXIMEH &4 35t 304,710 266, 150 38,560
FURXAEE 29 195,280 165,720 39,560
201 £B-2%H| 33,240 26,980 6,260
01 At 22l 23,240 16,980 6,260
OFQUXXHEH 2 600,000 12& 7,200
OFUXXIARSIS &HaLe
50,000& «25H «12& 15,000
OuUslsAMd -+ 13,000& »40H »23] 1,040
03 &AL S HI 10,000 10,000 0
OFUXXHH &5 LHSI 3,000,000& 3,000
OFLUXXEEH s Ast & FAEMEZZ]]
8 2 7,000,000 7,000
203 YR =& 600 600 0
03 AIHF=X AR =AY 600 600 0
OANEA#HFX 600,000& 600
301 et A=z 146,200 117,040 29,160
MIEE43 146,200 0 146,200
OFLUXXIEE XJSAX AH 24
25,0003 *400H x 12 120,000
OFUXXHAEH A2l NASAX AU 24 26,200
—3g 25,0003 *4H 249 24,900
-2 25,0003 «1H «52 1,300
405 XHobF S HI 15,240 11,100 4,140
01 HatH ESFH S 15,240 11,100 4,140
oussZAFH(UH) 1,100, 0002 »6CH 6,600
O HAN(THAN 1,200,000& »20H 2,400
OUSHA YESEAILE ()
1,600,000& 14 1,600
Ousloal Se&HI () 2,640,000 » 14! 2,640
O=R4«0otol3a AIAE(THA) 2,000,000& x 14! 2,000
QIAYRXe =29 21,600 21,600 0
201 Let24E] 21,600 21,600 0
01 At 22l 9,600 9,600 0
OHE PYEFAU=EH| 800,000& »12& 9,600
02 =224l 12,000 12,000 0
OAAUE 0l L LRI
1,000,000 »12& 12,000
s, 8E 23X 75,030 75,030 0
301 LAz 75,030 75,030 0

- 103 -




2AM: HEB1S
N HEIS FUNXMUEH 29

SHol: FOIXIME B4t (298 R)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
0BCESH-0/& - -EtEEs8AZ 75,030 75,030 0
Oos&s4 200,000& x21H *143] 58,800
OS&3 9 FEAxH 20,000& x21H x23| x12& 10,080
Obt&E 4 25,000& * 123 23| 6,150
MRt 252 S| 7,000 7,000 0
301 dEtE A= 7,000 7,000 0
09 HAIAHI EA = 7,000 7,000 0
ONRe2SLUHE) HEAX FHL 24 M3
7,000& x50 23| x 10 7,000
N2 BEED 29 5,800 6,800 A 1,000
201 Bt A H| 1,800 1,800 0
01 At 22l ] 1,800 1,800 0
OZ2E &1 89| 150,000& x12& 1,800
405 XtakF SHI 4,000 5,000 A 1,000
02 EAFH| 4,000 5,000 A 1,000
oM F¢ 2,000,000 *23] 4,000
s A2 96,362 92,340 4,022
HAI2E E 4| 71,362 69,840 1,522
201 Bt A | 70,962 69,840 1,122
01 At 22l bl 1,000 1,500 A 500
OFA SHIMNHE HI2(ste2 & 7¢)
500,000& *23] 1,000
02 3524l 69,962 68,340 1,622
OAFE A HXAH| 1,452,000 « 14! 1,452
03322 % MA 45,100
—MIR22 1,800,000& ~12& 21,600
— MO ER3 150,000& x12& 1,800
—SAIIAR S 1,500,000& ~12& 18,000
—JIEt 2222 € HA 100,000& *12& 1,200
— 2SN L EXNEE S 2,500,000 2,500
OA&E &l KXl 17,410
— Q483X FA 17,000& *x70E 1,190
— A L AEE X2 2,000,000& 2,000
— Mat2el =24 400,000 x12& 4,800
— 20ldHI =2 138,000& ~12& 1,656
—MJ|otE e =2 132,000& x12& 1,584
—&52J| |X22l] 165,000& ~12& 1,980
— AYUMEH =2 150,000& *12& 1,800
— FOIXXIAE AlEEH =&
200,000& x12& 2,400
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2AM: HEIS
M HE1s FUNXNEH 29
Sel S FMSY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OoEx& & 0lEX =XH  500,000& 12 6,000
405 XtAtE SHI 400 0 400
01 AL EFH S 400 0 400
O EXY SHYUA(MR) 400,000& = 1CH 400
A 25,000 22,500 2,500
401 Al HI K 201 I 25,000 22,500 2,500
01 A& HI 25,000 22,500 2,500
OFA 28 & HE&E A 3,000, 000 1Al 3,000
O&EA Xlot g A 20,000,000& =14 20,000
OBA 24 2 ZXNE HX 24 TM
2,000,000& =14 2,000
F=QIE O ALY 30,000 0 30,000
A2 FHISA 30,000 0 30,000
401 AIEHI L 20 30,000 0 30,000
01 A& HI 30,000 0 30,000
OA+E FHISA 30,000
— 63078 X 2R S 0HEZ2 OtA2EZH I A
20,000,000& =14 20,000
— 2t 55801 =0l HHl ¥ mE 4HA
2 X uwAd s 10,000, 000& * 14 10,000
HY2IZH (HEIS) 93,018 89,586 3,432
el 2l 50,658 47,226 3,432
ol 2| 50,658 47,226 3,432
101 @124l 50,658 47,226 3,432
03 RIAHAZZRHE > 50,658 47,226 3,432
OsFQUdH FA2el& 26,789
—Jl2s
(1,569,990 »2& )+(1,588,430& *10& ) 19,025
— ZWZ A 90,000& »12& 1,080
— S E =0t
(1,569,990 +1,588,430& ) *50% 1,580
—JE=E 40,0003 123 480
—N2eRRAY
(7,370 22 47,4502 102 )+ 1. 581 * 1541 2¢ 2,008
—pYuIRLy
(7,370 x22 +7, 4502 « 102 )+ 1. 5HH#BAl 2F*2 2,142
ol
—dTHEEZ 26,315,000& *18/1,000 474
Oz M2 223 23,869
—Jlzs
(1,588,430& 62 )+(1,606,880& ~6& ) 19,172
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2AM: HEIS
M HH2IALH(HEIS)
Helr g2
SN BB (HA) - MM - BES 0l &t o il
— W Z A 90,000& 12 1,080
— S ZEF It
(1,588,430&+1,606,880& ) *50% 1,598
—JIEE 40,0003 <128 480
L ECELE
(7,4502 «6 2 +7 5302 62 ) »1.581 »10Al 2+ 1,349
—MHEES 23,679,000% *8/1,000 190
Jl2&dl 42,360 42,360
Jl=Z 42,360 42,360
201 Let2dE] 16,200 16,200
01 AFR 22l 16,200 16,200
FAN2EH| 80,000& «9H 12 8,640
OJl=s gl 70,000 «9H « 1228 7,560
202 04l 16,200 16,200
02 H0HI 16,200 16,200
O A0t 150,000& x9Y 122 16,200
203 ¥R =&l 9,960 9,960
010223 gRFAH 6,600 6,600
OJI228 =4l 550,000& =12 6,600
02 & Jtatd =4 360 360
OFAJtatg =& 40,000 »9H 360
04 EA2IYRFLH| 3,000 3,000
ORN2EYE =4I 250,000& 12 3,000
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= o
A & 0l & AF 2 E A A
20148 & 204 LEHSIH L IIEISESH =3P HIXNAY ~ AES
2AM: EHE2S
M NYNXSM &2 ZH
Chelr XYXXISM &H42el (&)
2 S 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
EHE2s 464,218 405,910 58,308
< 788
Al 463,430
A& XX EH & 0122l S 1,576 0 1,576
< 788
Al 788
N YIRS &2 3| 1,576 0 1,576
< 788
Al 788
HIASANSEEN =& 1,576 0 1,576
< 788
Al 788
101 @124l 220 0 220
< 110
Al 110
04 JIZHHZ2Z2XNESE S+ 220 0 220
OHM63l M= AXNLENH JIZHZZ2A 22
40,0003 1 +5.5< 220
< 110
Al 110
201 Let249] 996 0 996
< 498
Al 498
01 At 22/l 996 0 996
ON6sEl MISAXNLHAN HRFZR det=>ZH|
621,320& 622
< 31
Al 311
OMeal d=SAMALEN I2FA S|
7,000& *10.672+5H 374
< 187
Al 187
202 04l 100 0 100
< 50
Al 50
01 = LH 4 Hi 100 0 100
OHN6zl d=sSAXNLEH dRFE 04l
10,0003 x5H »22 100
< 50
Al 50
203 B R =&l 260 0 260
< 130
Al 130
03 AIMZ=XH R =AH| 260 0 260
OHesl MISAXNLLHN HRF=AH|
65,000& *43] 260
< 130
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EBHE2s
AN TR SH HH2elF b
KYXXISH &H 223

- _ _ RE]
CEB - HS(3H) - HBAY - B Ol At o %@ﬁ HRE2
L1 A T30
EHEH2E FOXXAEH 24 387,496 330,670 56,826
FOIXXHE 245 287,990 261,250 26,740
FOXXAEH 2E 175,290 148,240 27,050
201 gBt24d| 31,000 26,600 4,400
01 AP 22| H| 21,000 16,600 4,400
OF0XXHAEH 2Hd| 500,000 x12& 6,000
OZFOINXSIL 50 BMLg
0,000 25 « 122 15,000
03 A2 HH| 10,000 10,000 0
OFUXXNEH &F 2EHI 3,000,000 3,000
OFUXXHEH nE -Ast L HAEHYEEZZ
e 29 7,000,000& 7,000
203 ¥ 2 =&XH| 600 600 0]
03 Al ZH =& 2 = X H| 600 600 0
OAMEBANHE FrES 600,000 600
301 LBt A= 140,050 115,640 24,410
11 JIEtE A= 140,050 0 140,050
OFUXXHME XSALAH AH 24
25,000 »400H 12 120,000
OFCIXXHEH Ad2e N2 ALR AH 24 20,050
—EHa 25,000 »3% %250 18,750
- =a 25,000 124 52 1,300
405 KHo&HFE S HI 3,640 5,400 A 1,760
01 XA 2B F S| 3,640 5,400 A 1,760
OFXXNHEH 22 3,640
— F0lwa o XH(THA) 77,000 x20 4 1,540
—0lSA HEAHS(MR) 700,000 *3H 2,100
AR He 29 23,450 21,260 2,190
201 et 9| 20,800 20,760 40
01 AP 2t 2] d| 11,200 11,760 A 560
ORIAHMALIFX £=FH| 900,000 x12& 10,800
OFUS=EE FAHAR AUET
8,000 *50H 400
02 2224 H| 9,600 9,000 600
OZUAEOEE RERS 800,000 x12& 9,600
405 XHoHFE S HI 2,650 500 2,150
01 XA 2B F S| 2,650 500 2,150
QudHdede Haed2(AlR) 2,650
— 23D 1,650,000& «1CH 1,650
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2AM: EHE2S
X HE2s FUNXME 23
el FOUNXIME 2435t (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— S HADI 350,000 204 700
-3 150, 000 & »2CH 300
=, B8t& s 82,190 82,190 0
301 et d = 82,190 82,190 0
05 S& -0 -EtEEs28E 82,190 82,190 0
Os&E=+¢ 200,000& x23H x143| 64,400
Os&3alo &A= 20,0003 23 *23|«12& 11,040
Oet&E g 25,0003 x135H »23| 6,750
MRE =52 S| 7,060 7,060 0
201 L4l 60 60 0
02 =224l 60 60 0
Ozl BISH ARSI 5,000& x12& 60
301 et a3z 7,000 7,000 0
09 &AL HIZB &S 7,000 7,000 0
OMRs =222 2SI HEL FWHX =4
7,000 «50H 23] 10 7,000
s BA2Y 69,507 69,420 87
A28 3 62,507 59,420 3,087
201 L4 62,107 58,020 4,087
02 =224l 62,107 58,020 4,087
OdA=E= A HIT A 550& #2,339m 1,287
Oz22= & HA 21,600
—&NIIe3 1,500, 000& «12& 18,000
—&ot=k 23 150,000& = 12& 1,800
—Jigt 3323 & HMA 150,000& 128 1,800
O =zl 14,400
—SAIIARZ 1,200,000& 128 14,400
OA&ZEHl s Xl 13,020
—RoZHl===2 170,000 =128 2,040
— Z A &at2eldl 110,000 128 1,320
— 57 sA2cl 180,000& 128 2,160
— EA B E A 1,500,000 * 1Al 1,500
— A 2 AIZEH |XH 500,000& 122 6,000
O Xt 6,200
— X=Xl 300,000& x12& 3,600
—0I&X S 50,000& »12& 600
—Xg ¢ 0EX BEE= 2,000,000 2,000
OFA2Y el 350,000& 128 4,200
(@)= 3=3-1 9 rsh:] 700, 000& »2CH 1,400
405 XtatE SHI 400 0 400
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2AM: EHE2S
I ftHE2S FULNXMUEH 29
H°e: s 3N2g

_ d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 Mtarg 223 S 400 0 400
O EXE SHYA(MR) 400, 0003 = 1CH 400
FAEEHA 7,000 10,000 A 3,000
401 AIEHI L 20 7,000 10,000 A 3,000
01 Al H 7,000 10,000 £3,000
O&AMN A7 E=ZA 7,000,000& =14 7,000
FOIHEOIALS 29,999 0 29,999
A2 ZHISA 29,999 0 29,999
401 AIEHI L 2CHEI 29,999 0 29,999
Al bl 29,999 0 29,999
OEHE S 108821 Xl 2 404 LIGHX EFE S A
49,5003 *202m’ 9,999
OH&E2= 9598 Xl 2 4014 OIDNEEX ZEHS
Al 40,0002 *250m 10,000
O71I7T8 X 2 1A HE JtEd Y &X
500,000 *20H 2~ 1,000
OH&ES &52-1 & &2 Jt235tE Jl
60,000& x100m 6,000
OtHE23 3468 X 2 37401 =20l &
8,000& »3754 3,000
HYRIZH (HE28) 75,146 75,240 A94
el 2 29,146 28,940 206
ol 2| 29,146 28,940 206
101 124 dl 29,146 28,940 206
03 RIAHAZZ2NE = 29,146 28,940 206
OSFOME HAZ2 29,146
—Jlzs
(1,569,990 +6& )+(1,772,840& »1&)+(1,7 20,150
91,2902 +5% )
— ZUg A 90,000 *12& 1,080
— S E St
(1,569,990&+1,791,290& ) *50% 1,681
—NLRRLY
(7,370 «6 2 18,2702 12 +8, 3503 53 ) * 1 2,12
58 = 15A1 2t
—sYuaRsy
(7,370 «6 2 48,2702 12 +8,350 2 58 ) * 1, 2,262
5HH *B Al 24 <22
— XY 8,350& *8BAl 2+*x20 1,336
—MTHEE S 28,630,000% *18/1,000 516
JlEZ3dl 46,000 46,300 A 300
JlE&l 46,000 46,300 A 300




2M: HE2S
Ha: #H2AA (HE2S)

el JI=23Hl

SA - ZE-B(EA) - NRAY - B S il &t o il

201 L2l 18,000 18,000

01 At 22l 18,000 18,000
FA2EH| 80,000 x10H «12& 9,600
OJle sl 70,000 10 =128 8,400

202 Oddl 18,000 18,000

02 M0 18,000 18,000
O HOHI 150,000 x10H »12& 18,000

203 YR =2l 10,000 10,000

01 JI22H =4 6,600 6,600
OJ|22d L Fat| 550,000& »12& 6,600

02 AP 2= 400 400
OF ALY S = 40,0003 =10 400

04 NI ZAH 3,000 3,000
ORAN2EIRFEHI 250,000 128 3,000




= A
HOZE ol & Ab 2 M A
20148 & 20 A LESH L JIEIEESH £ HEXKN ~ ANES
SM: BlE3s
N2 X XXISH &H2elE
SR KSR S &0{2elF (2 &HH)
2 S 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
EIR=RES 622,818 547,739 75,079
= 781
Al 622,037
NSRS &0122 E ] 1,562 0 1,562
= 781
Al 781
MR EH &of2e 2 1,562 0 1,562
= 781
Al 781
HRESAXNYHN =& 1,562 0 1,562
= 781
Al 781
101 e1214| 220 0 220
o 110
Al 110
04 JI2ZtHIZ22 NEES 220 0 220
OHNb6al EZ2SsSAIXNEEH JI2HH2 2R 2182
40,0003 x1H x5 5 220
== 110
Al 110
201 et 982 0 982
o= 491
Al 491
01 AP 2t 2| H| 982 0 982
OR63 MISAXNLEN YRSEW Lps Y|
607,240 608
= 304
Al 304
ON63l HMISAXNYSEN HRFE S S|
7,000 *10.67L x5H 374
== 187
Al 187
202 044 100 0 100
o= 50
Al 50
01 2Ll 100 0 100
OHM63l d=2SAANSEH S2=& 0]
10,000 x5 %22 100
o=t 50
Al 50
203 AR =X Y| 260 0 260
= 130
Al 130
03 AIZH =& 2= X H| 260 0 260
OHN63l d=2SAMANLEH S2F=XH|
65,000& *43] 260
o= 130




SA: BHE3=S
HE: XSS &2 3l
Sl XIYRAISHH &0 2el F | CERED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Hl A T30
EHE3S FoUXNXHEH &9 503,139 437,190 65,949
FOXXAH 435 342,550 300,570 41,980
FOUNXMEH 29 219,500 182,970 36,530
201 Bt A | 33,800 27,400 6,400
01 AP 22l Yl 22,800 17,400 5,400
OFoUXXHEH 23H| 600,000& x12& 7,200
OFQUNXSY 80 HAsg
0,000 x26H x12& 15,600
03 S AFS H H 11,000 10,000 1,000
OFUXNXMEH HSLES 3,000,000& 3,000
OFUXNXHEEH g - As Y HAEHEZZ
s 249 7,000,000& 7,000
OsM2z 29 500, 000& 23] 1,000
203 YR =AY 600 600 0
03 A =X R =XIH| 600 600 0
ONMBAH 2552 600,000 600
301 dBEtE A= 172,550 162,720 19,830
M IIEtE A S 172,550 0 172,550
OFUXNXHEH XS AL AH 24
25,0003 x480H x12& 144,000
OFUXXHE AlE82el N2 ALL AlY 2 A 28,550
—Ha 25,0003 *4H »248 24,800
—0r2H(E,5) 25,000& *1¥9 100 2,500
—F% 25,000 »1H x50 1,250
405 XH&HF S HI 12,550 2,250 10,300
01 AL =2 EF SHI 12,550 2,250 10,300
OF0XNXHEH St A3a &I 4,000
— XK= AII(CHA) 4,000,000& = 1CH 4,000
OF0IXXHEH AN IR 6,300
— A (CHA) 2,800,000& =2 H 5,600
— HEQDAFXI DI (CHAN) 700,000 =14 700
OFQUXXME T2 (2A) 2B (A ) 2,250
- &g 150, 000-& =104 1,500
- &3 150, 000& *5H 750
AP H 29 20,050 22,300 N2,250
201 L2 Y| 19,200 21,600 AN 2,400
01 At 22l Yl 9,600 9,600 0
OLIAHNY HREX=FH| 800,000& x12& 9,600
02 =294l 9,600 12,000 N 2,400




2AM: H

X{ XH -
S =

©el: F

g3s

BITtRIME o3t

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OF0s= 2 NSI=X SHR3
800,000& »12& 9,600
405 TtobFH SHI 850 700 150
01 AL EZFH S 850 700 150
Oovlglg SgZelH () 850,000 * 1CH 850
s.0E 83X 72,300 76,300 A 4,000
301 et a3z 72,300 72,300 0
05 8% -0 -tHESEHS 72,300 72,300 0
os&d=¢ 200,000& *20H x143| 56,000
Os&3slo &2 20,0002 20 *23| «12& 9,600
Ot =¢ 25,0003 x134H »23| 6,700
MWRe =52 2SI 7,000 7,000 0
301 et a3z 7,000 7,000 0
09 &AL HIZB &S 7,000 7,000 0
ONRet==22SI| HEL FWHX =4l
7,000& *50H 23| 10 7,000
N2 22D 29 23,700 12,000 11,700
201 et 2,000 2,000 0
01 At 22l 2,000 2,000 0
O N2t 24| 2,000,000 2,000
401 Al HI K 201 I 2,500 0 2,500
01 A& tl 2,500 0 2,500
onglolggxd 25HY & La02LXS
At 2,500,000 2,500
405 XtAHE SHI 19,200 10,000 9,200
01 AR ESFH S 9,200 0 9,200
OHMF(AlT) 400, 000& =74 2,800
O==& () 400, 000& = 1H 400
O A=I|(AMF) 6,000,000 = 1CH 6,000
02 = A=l 10,000 10,000 0
OFSENME TN 10,000,000 10,000
s FAN2d 128,589 136,620 A 8,031
FA2E 3 114,589 136,620 A 22,031
201 LBt 114,589 117,620 A 3,031
01 At 22l 1,800 7,800 A 6,000
O&=J| Xtz 50,000 =30 x 12 1,800
02 =224l 112,789 109,820 2,969
OH=E A H I A 550& *5,398m 2,969
O322= & HA 37,200




M EHEIS

H: EHEIsS FUNLAXHLMH 29
ool S HARY (ol @)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
—MIR22 2,400,000& x12& 28,800
— MO ERE 400,000& x12& 4,800
—JIEt 22322 ¢ HA 300,000& x12& 3,600
OH =l 27,600
—SAIIARSB 2,300,000& x12& 27,600
OA & &Hl S XY 38,720
— H AR X HI 500,000 x12& 6,000
— R0 FHl =2 250,000& 12& 3,000
— S| otd 2t el 2 Xl ] 200,000& x12& 2,400
— A EOorA 22| ] 150,000& *12& 1,800
— &I otd 2teldl 160,000& ~12& 1,920
— gt d] X 22yl 110,000& x50 12 6,600
— ey FII2E LM 900, 000& *5CH 4,500
—AgXx HA 1,000,000& x13] 1,000
— KXot == ¥ =3 HA
500, 000& x23] 1,000
—3AI 8 ¥ HEY HaA 3,000,000& x13] 3,000
— AN 8Y A5 250,000 *63] 1,500
— JIEF A& & Bl s XY 500,000& 12& 6,000
Ox&R XYl 6,300
— 22X L 0lEX 22|
400,000€ x12& 4,800
— 22X & 0lEX BEEE 1,500,000 *13] 1,500
HAMESEIN A 14,000 0 14,000
401 Al H L 2T 14,000 0 14,000
01 A& Hl 14,000 0 14,000
Os A =8 43X & dEBA
4,000,000& =14 4,000
Os A =XIU 228 BA S XE3AM
10,000, 0003 *14] 10,000
ZFOIHO ALY 32,000 0 32,000
LTS FUIBA 30,000 0 30,000
401 Al HI L 2 0HHI 30,000 0 30,000
01 A& HI 30,000 0 30,000
OEfHE3s 2t Y280 ES&E S At
4,440,0002 * 14! 4,440
OEHE3=s 4320~4461H X DN X ZEEZAF
25,560,000& = 14! 25,560
MeEtstd A 2,000 0 2,000
401 A& HI L 2T 2,000 0 2,000
01 A& HI 2,000 0 2,000




SM: BlE3s
MM EHEH3IS F=UANXNALHAEH 2H
9l FOIEOIAY CER-ED
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OEHE3S 4015, 36458 X| M YIJI&ED| SR =
ZYtA AR 500, 000-& =4 H 2,000
THol & THYE o & 16,180 16,180 0
F X MACHzH 16,180 16,180 0
EHEZ HAHE 16,180 16, 180 0
201 gBt24y| 2,240 2,240 0
02 2% H| 2,240 2,240 0
OA&ZHl SAldl 2,000
— HARH 2 OAIAE A H] 2 2tY|
500,000& *23] 1,000
— AlAE =AY 1,000,000& x 14! 1,000
OdI| g2 20,000& x12& 240
206 M = H| 13,940 13,940 0
01 X2 Hl 13,940 13,940 0
OrlEtd HA AN 410,000 x34ke 13,940
HE2AAY| (EHEH3IS) 101,937 94,369 7,568
olad 2 A Y| 58,827 52,009 6,818
ol AY| 58,827 52,009 6,818
101 Q124 H] 58,827 52,009 6,818
03 RIAHLZZXHE S 58,827 52,009 6,818
OsSF04dEH A2 31,012
—J=2a2
(1,772,840 x92 )+(1,791,290& »3& ) 21,330
— M ZAH| 90,000 ~12& 1,080
— "WAE S|
(1,772,840 +1,791,290& ) *50% 1,783
- JIEx4 20,000& x12& 240
—ANZ2AZ 2L
(8,270 x92 48,350 »32! ) 1.5 x15Al 2+ 2,239
— 54224
(8,270 x92+8,350R »32! ) 1. 5H x8 Al 2+ %2 2,388
ol
— iRt 8,3502! *BA| 2H#21 1,403
—duEE2 30,463,0002 *18/1,000 549
Om2zHE zold 27,815
-3
(1,606,880 22 )+(1,625,3102 10 ) 19,467
— dHZ A 90,000 *12& 1,080
— HAE S|
(1,606,880 +1,625,310 ) *50% 1,617
—JIERXE 80,000& ~12& 960




2AM: EBHE3S
M HH2ALH(HE3S)
Sl ol ) CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
S EFECEN=
(7,530 22 +7,610& 102 ) 1.580 *10Al 2+ 1,368
Y222y
(7,530 22 47,6102 10 ) 1. 58] *BA| 2+ +2 2,188
2
S DN ER= 7,610 *BAl 2k*152 914
—dTHEE = 27,594,000& *8/1,000 221
Jl=&dl 43,110 42,360 750
JlEdl 43,110 42,360 750
201 Let24d] 16,950 16,200 750
01 At 22l 16,950 16,200 750
ORM2gHI 80,0003 «9H x12& 8,640
OJlEs &l 70,000 *9H 122 7,560
gkl X)) 2 25,000& =30 750
202 O4dl 16,200 16,200 0
02 M0 16,200 16,200 0
O HOHI 150,000& x9H »12& 16,200
203 YR =2l 9,960 9,960 0
01 JI22L =4 6,600 6,600 0
OJI&228 g2 =4l 550,000& 128 6,600
02 AP 2= 360 360 0
OFJINH S =R 40,0003 x99 360
04 FN2ILSF=TH 3,000 3,000 0
ORAN2EYE=AHI 250,000 128 3,000




—— A
N = 0] &F AF S & AN A
20148 & 20 A LESH L JIEIEESH £ HEXKN ~ ANES
SN EHB4S
N2 X XXISH &H2elE
SR KSR S &0{2elF (2 &HH)
2 S 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ElEH4s 452 543 399,961 52,582
= 760
Al 451,783
NSRS &0122 E ] 1,520 0 1,520
= 760
Al 760
NI SH & 422 Z 1,520 0 1,520
= 760
Al 760
HNI2ESANANYEHH =& 1,520 0 1,520
= 760
Al 760
101 e1214| 220 0 220
o 110
Al 110
04 JI2ZtHIZ22 NEES 220 0 220
OHNb6al EZ2SsSAIXNEEH JI2HH2 2R 2182
40,0003 x1H x5 5 220
== 110
Al 110
201 et 940 0 940
o= 470
Al 470
01 AL 22l 940 0 940
OR63 MISAXNLEN YRSEW Lps Y|
565,880& 566
= 283
Al 283
OHMBE =S AXNEENH RFE S|
7,000 *10.67L x5H 374
== 187
Al 187
202 044 100 0 100
o= 50
Al 50
01 2Ll 100 0 100
OHM63l d=2SAANSEH S2=& 0]
10,000 x5 %22 100
o=t 50
Al 50
203 AR =X Y| 260 0 260
= 130
Al 130
03 AIZH =& 2= X H| 260 0 260
OHN63l d=2SAMANLEH S2F=XH|
65,000& *43] 260
o= 130




2M: H
SRR
¢l X

=P
SRS A 2Rl Z Y
SRR A 1 2Rl

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
1] A T30
EHE4s FQUXNXIMEH 2 376,359 323,966 52,393
FOXXIMEH &4 35t 293,550 261,590 31,960
FURXAEE 29 193,750 161,440 32,310
201 £B-2%H| 35,600 25,000 10,600
01 At 22l 25,000 15,000 10,000
OFQUXXHE 224l 500,000& = 12& 6,000
OFQIRXIME 3o Baag
50,000& «25H «12& 15,000
OQu=sLsAtE Wbl 1,200,000& 1,200
OS2 2(0ISAE) AAX 22t
700,000& *43] 2,800
03 &AL Z HI 10,600 10,000 600
OFUXXHH &35 LHI 3,000, 000& 3,000
OFQUNXHH wx - A8t & IAEHEEZ
8 23 7,000,000 7,000
OstS84dE HEO0lIJI et F A sty
150,000& x4 3| 600
203 R =&l 600 600 0
03 A Z=XH S =AY 600 600 0
OANEANHLRFL 600,000& 600
301 e A= 140,200 129,040 11,160
MIIEBE4d3 140,200 0 140,200
OFLUXXIEE XJSAX AH 24
25,0003 380 «12& 114,000
OFUXXHEH A2l NASAX A2 4 26,200
-3y 25,0003 *4H 249 24,900
- =g 25,0003 «1H 52 1,300
405 XtatE SHI 17,350 6,800 10,550
01 AR ESFH S 15,350 3,800 11,550
O#AIE HOolA EXH(THA) 100, 000& 20K 2,000
OFURNXME NE8 BFH (M)
1,100,000& = 10CH 11,000
OFURNXME NEE Tl (M)
350,000 1CH 350
ORH0I0IIAIAE(THAN) 2,000,000& = 1CH 2,000
02 =M=l 2,000 3,000 A 1,000
OFTXEH 282 &4 2
2,000,000 2,000
YR He 29 21,250 21,600 A 350
201 Let24d] 20,400 21,600 21,200
01 At 22l 12,000 12,000 0




2AM: HE4S
N HHE4S FUNXMUEH 29S8

el FOUNXIME 2435t (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
Ol FRF=A =&EHl 1,000,000& 12 12,000
02 =24l 8,400 9,600 A 1,200
O3 & HA 8,400
—QZUE OlsRE 3 600,000& 128 7,200
—JItt RER= 100,000 =122 1,200
405 TtabH S| 850 0 850
01 AL EZFH S 850 0 850
ORlaL=E ZelH(UA) 850,000& 1CH 850
s.0E 83X 71,550 71,550 0
301 et A= 71,550 71,550 0
058 -0 -tHESE4S 71,550 71,550 0
Os&d=+g 200,000& *20H x143| 56,000
Os&3lo &2 20,0003 20 *23| 122 9,600
ogta=¢ 25,0003 x119& #23| 5,950
MWRe =52 US| 7,000 7,000 0
301 et a3z 7,000 7,000 0
09 SAFAIYI & &2 7,000 7,000 0
OMREZ2UVET] HEAHOT SAYl
7,000 «50H 23] 10 7,000
s BA2Y 51,609 62,376 A 10,767
A28 3 43,409 40,076 3,333
201 Lt 43,009 40,076 2,933
01 AFR2t2lHl 2,199 0 2,199
OF=J| gdxz 50,000 «3CH 12 1,800
O3J18&J| gx=z 33,2003 ~1CH~12& 399
02 =224l 40,810 40,076 734
OA=ES A I A 550& *1,333m 734
O332= % HAl 11,400
—&Ilea 800,000& 122 9,600
— oot 2= 50,000& »12& 600
—Jitt 2323 & HMA 100,000 =122 1,200
O =zl 10,800
—SAIIARZE 900,000& =122 10,800
OA& &8l Xl 9,076
— A= X 400,000& 128 4,800
— RoZH =2 213,000 128 2,556
— F0MEH LA R HAE S|
110,000& »12& 1,320
— &3t FAHI 400,000& * 12l 400
O Xl 5,200
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2AM: HE4S

M HE4s FUNXNEH 29
Sel S MY (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— g Sl 300,000& »12& 3,600
— 0I&X Sl 50,000& 12& 600
—2EX L OIEX EEE 1,000,000 13 1,000
OFA2Y Let==EH| 300,000 x12& 3,600
405 XHoHF S HI 400 0 400
01 At ESFH S 400 0 400
OZEXE SYA(AR) 400,000 = 1CH 400
AL 8,200 22,300 214,100
401 Al HIZ 201 8] 8,200 22,300 A 14,100
01 A& HI 8,200 22,300 A 14,100
Ok =& AAIA 2,200,000& =14 2,200
OFUIXEH 218 RANE SA
6,000,000& =14 6,000
F=OIE o ALY 31,200 0 31,200
A2 FHISA 31,200 0 31,200
401 A& HIZ 201 8] 31,200 0 31,200
01 A& HI 31,200 0 31,200
O558 Xl 2 2 OlHEZ EZEHIA
18,050, 0002 14! 18,050
O225581 X 2 1 BEHNERZ HSEHE S A
10, 150, 0002 14! 10,150
OEg=22 S 0182 90l &4
3,000,000 » 14! 3,000
HY2AZH (HHEL4S) 74,664 75,995 A 1,331
ol 2 gl 29,804 28,185 1,619
ol 2AH| 29,804 28,185 1,619
101 @14 Hl 29,804 28,185 1,619
03 RIHAZ 2T E =+ 29,804 28,185 1,619
Os=QdH FA2el & 29,804
—JlEs
(1,643,750 «8& )+(1,662,200& x4 & ) 19,799
— M Z A 90,000& »12& 1,080
— S E F It
(1,643,750& +1,662,200& ) *50% 1,653
—JIE=E 120,000 128 1,440
L ECELE
(7,690 x8& 17,780 % »4& ) »1 .58 x 15AI 2+ 2,085
—pYIRLy
(7,690 «82 17,7803 *4& )+ 1.5H1 *8Al 2 *2 2,224
ol
— QX 7,780 *BAl 2t+16L 996
—dHEE=Z 29,277,000% *18/1,000 527
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2N
X ZH -
L= B

el

EBHE4s
HE2AZH (BHELS)

o T

Jl=23tl

SA - FE - BI(EA) - NRAY - By 0l b SSa DS
JlE &3l 44,860 47,810 A 2,950
Jl23l 44,860 47,810 A 2,950
201 €24 16,200 16,200 0
01 AF22t2l bl 16,200 16,200 0
OfNM2gHI 80,000 «9H « 122 8,640
OJle s gl 70,0002 «9H 12 7,560
202 Oddl 16,200 16,200 0
02 M0 16,200 16,200 0
O HoHI 150,000 x9H «12& 16,200
203 R =&t 9,960 9,960 0
01 J122E YR =2H 6,600 6,600 0
OJlZ2g g2 F&| 550,000 122 6,600
02 33 H 2= 360 360 0
OFAINH S = 40,000& »9H 360
04 FN2ELRZ=TH| 3,000 3,000 0
ORAN2EYEF=AHI 250,000& 128 3,000
405 Xt&tE SHI 2,500 5,450 A 2,950
01 ML ESH SHI 2,500 5,450 A 2,950
OZAE S I (THA) 550,000& = 1CH 550
OdZED(HA) 1,100
— €4 1,100,000& = 1CH 1,100
OQl A etal TV(THA) 850,000 1CH 850
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= A
HOZE ol & Ab 2 M A
20149 = 20la LB JIEISESH =37 IR ~ AES
2A S
M NSNS dA22 3
PRl R AXIE A &4 223 (Sl & &)
- s
SA - FE - B(EA) - NRAY - B 0 &t il HI DS
=S 405,971 380,851 25,120
& 763
Al 405,208
NS X SHH & H 22l F bl 1,525 0 1,525
< 763
Al 762
MR EH &of2e 2 1,525 0 1,525
= 763
Al 762
BaSAMALEN =& 1,525 0 1,525
< 763
Al 762
101 Q124 4] 220 0 220
< 110
Al 110
04012t Z22HsSE+ 220 0 220
OH6sl I SAIXNLHN JNIZHMIZ2A ARY
40,0003 *1E »5.5& 220
< 110
Al 110
201 LBt | 945 0 945
< 473
Al 472
01 AL 22l 945 0 945
O3 MIASAINLEN LREH Yura gy
570,720& 571
< 286
Al 285
OHBal d=SAXNSEH GRFT S|
7,000& *10.672 5 374
< 187
Al 187
202 O Hl 100 0 100
< 50
Al 50
01 S LHOYI 100 0 100
OMeal d=SAMAEEH H2FA O]
10,0003 5% «22 100
< 50
Al 50
203 AR =X Y| 260 0 260
= 130
Al 130
03 Al =&Y 2= 260 0 260
OHN6al d=sAXNSEH HRFH|
65,0003 *42] 260
& 130
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M =A1S

M NYNXSM &2 ZH
Chelr XYXXISM &H42el (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
[ ] 3 T30
=d1s FLUXNXHEH 22 332,845 311,140 21,705
FOXXIMEH &4 35t 253,835 269,080 N 15,245
FURXAEE 29 148,575 153,720 A5, 145
201 £B-2%H| 32,200 26,200 6,000
01 At 22l 22,200 16,200 6,000
OFQUXXHE 224l 600,000 12& 7,200
OFUNXS A 50 &Asg
50,000& *25H 123 15,000
03 A2 Z Hl 10,000 10,000 0
O XXHH HZLHE3 3,000,000& 3,000
OFURXHEEH 7 - As & HALAEHMEEZZ
g3 7,000,000 7,000
203 YR =&Y 600 600 0
03 Al =X A2 =XH| 600 600 0
OANMEAHESFA 600,000 600
301 L2 L= 109,975 109, 120 855
11IIEBEAS 109,975 0 109,975
OFQTXEH THASAMI AU EH
25,0003 *300H 123 90,000
OFQUXXIHAE AlZ2el NJASAX AUl 24 19,975
— &g 25,0003 *3H 249 18,675
- =g 25,000 *1H x522 1,300
405 TtabF S| 5,800 17,800 A 12,000
01 et ESFHSHI 3,800 15,800 A 12,000
OXs&XE A (CHA) 1,900, 000& *2CH 3,800
02 =M=l 2,000 2,000 0
OFUXXHH A 2,000,000 2,000
QEeHdel 24 21,050 31,150 A 10,100
201 LBt 19,200 21,600 A 2,400
01 At 22l 9,600 9,600 0
ORAAFZARFA =24l 800,000 128 9,600
02 8323l 9,600 12,000 A2,400
OZUHEOIS & 2HR2S 800,000 »12& 9,600
405 XHoHF S HI 1,850 550 1,300
01 XL 2 ZFH S| 1,850 550 1,300
OCIJIIZU(THA) 1,500,000 1% 1,500
OdlO0I ™M= elEf (CHAl) 350, 000& = 1CH 350
s, 8E 23X 78,610 78,610 0
301 L2 A=z 78,610 78,610 0
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SN SEIS
My 2X1S FONIME 29
Chol: FOIXIXIME BA S CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
05 8% -0 -tHESE43 78,610 78,610 0
os& 72,160
-4 200,000 *22H «143] 61,600
— 2L 20,0003 x22H «23| 12 10,560
Otttz =g 25,0003 129 23| 6,450
MRe == eS| 5,600 5,600 0
301 et d = 5,600 5,600 0
09 HALAHIEA S 5,600 5,600 0
OMRet==2ZHS) HEx I S4Hl
7,000 x40 «23| 108 5,600
s FA2d 49,010 42,060 6,950
FA2E 3 43,010 42,060 950
201 Let249] 42,610 42,060 550
01 At 22l 2,400 2,400 0
O at2tel ek=ZH| 200,000& 128 2,400
02 =224l 40,210 39,660 550
OdA=E= A HIT A 550,000& =14 550
O=323<HA 12,600
—dIIRa 800,000& »12& 9,600
— 4ot R3 150,000 128 1,800
—JIEtS3223 100,000& 128 1,200
O =zl 12,000
—SAIIARZ 1,000,000& »12& 12,000
OA&&EHl Sl 9,960
— Zsteteldl 110,000& =128 1,320
— SoFHAAEEY S 220,000 128 2,640
—JIEtAI € E R X2t el 500,000& 128 6,000
OXt& =Xl 5,100
— s Xl 300,000& = 12& 3,600
—24ENY EER2 1,500,000 1,500
405 TtabF S 400 0 400
01 AL EFHSHI 400 0 400
O EXE SHYA(MR) 400,000& = 1CH 400
A3 HH 6,000 0 6,000
401 AIEHI L 20HEI 6,000 0 6,000
01 A& Hl 6,000 0 6,000
O uid SA 3,000,000 » 14! 3,000
Os HUE &X SA 3,000,000 =14 3,000
FOEOIAS 30,000 0 30,000
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2N 2F1E
My 2X1S FONIME 29
SH9l: FOIE O ALY SREED
= - — SHE|
SN HH-S(BN) - MBAY - B e 2
28 ZHIBA 25,000 0 25,000
401 Al&HI & 28I 25,000 0 25,000
01 A& HI 25,000 0 25,000
O=Z&l& b46~566H X2 4L 01HEZ2 ZEZ
Al 4,000,000& *6.25a 25,000
MEEHH FZH 5,000 0 5,000
401 Al HI & 28I 5,000 0 5,000
01 A& HI 5,000 0 5,000
O=&S 1804~1832H Xl 50HA & X Z H=E=H
A 5,000,000& =14 5,000
HE2IEU(=T1S) 71,601 69,711 1,890
el 2l 29,241 27,351 1,890
ol 2| 29,241 27,351 1,890
101 @14l 29,241 27,351 1,890
03 RIAHAAZZRE > 29,241 27,351 1,890
Os=oldgy EA22E 29,241
—Jlas
(1,662,200 «6& )+(1,680,630& *6& ) 20,057
— ZWZ A 90,000& »12& 1,080
— BE S|
(1,662,200&+1,680,630& ) *50% 1,672
—EE 20,0003 x2H x12& 480
S EEECE
(7,780 x62 17,8602 *6& ) *1. 58 x 15 Al 2+ 2,112
=
(7,780 x62 17,8602 6 ) * 1. 5H1 xBA| 2H+2 2,253
ol
—HXt=s=g 7,860& *8BAl 2+ x17L 1,069
—dTHEEZ 28,723,000& *18/1,000 518
=3l 42,360 ,360 0
Jl23Hl 42,360 ,360 0
201 £B-2% | 16,200 ,200 0
01 At 22l 16,200 ,200 0
ORA2dt| 80,000 «9H x12& 8,640
OPIE=1i:] 70,0003 9«12 7,560
202 oidl 16,200 ,200 0
02 WO 16,200 ,200 0
OEHHH 150,000& x9H »12& 16,200
203 PR =&l 9,960 ,960 0
01 J22FHR2F=EI 6,600 ,600 0
OJI22g g =2l 550,000& »12& 6,600

- 126 -




o

Kl
<

R0

30 o
— 0K R0
RJ RO MM
<k &N

2N
X ZH
L= B
el
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= A
N = 0l & At & Ml A
20149 = 20la LB JIEISESH =37 IR ~ AES
AN 228
M NSNS dA22 3
PRl R AXIE A &4 223 (22 &d)
- s
SA - FE - B(EA) - NRAY - B 0 &t il HI DS
x2S 682,135 604, 354 77,781
& 793
Al 681,342
NS X SHH & H 22l F bl 1,586 0 1,586
< 793
Al 793
A& XX SH & 122l 3| 1,586 0 1,586
< 793
Al 793
BaSAMALEN =& 1,586 0 1,586
< 793
Al 793
101 Q124 4] 220 0 220
< 110
Al 110
04012t Z22HsSE+ 220 0 220
OH6sl I SAIXNLHN JNIZHMIZ2A ARY
40,0003 *1E »5.5& 220
< 110
Al 110
201 LEr2A | 1,006 0 1,006
< 503
Al 503
01 Ar22t2l bl 1,006 0 1,006
OHM6a M=aSAXNLYEN RFE ABt=EH|
631,940& 632
< 316
Al 316
OHBal d=SAXNSEH GRFT S|
7,000& *10.672 5 374
< 187
Al 187
202 O Hl 100 0 100
< 50
Al 50
01 S LHOYI 100 0 100
OMeal d=SAMAEEH H2FA O]
10,0003 5% «22 100
< 50
Al 50
203 g ==&l 260 0 260
< 130
Al 130
03 Al =&Y 2= 260 0 260
OHN6al d=sAXNSEH HRFH|
65,0003 *42] 260
& 130
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EAXIEH &4 2el &l
XX EH &12el B
SH - FB S (BH) - HRAY - BES il
1] A T30
=2s FUNXMEH 22 596,880
FOXXIMEH &4 35t 434,471
FURXAEE 29 254,500
201 £B-2%H| 39,600
01 At 22l 25,200
OFQUXXHE 224l 600,000 12& 7,200
OFURNIAL 812 &AL
50,000& «25H «12& 15,000
OFQUXXIHE AAX &2t 3,000,000 3,000
02 =24l 2,400
OFQUXXHEH &AA SXH 200,000 «12 2,400
03 A2 Z Hl 12,000
OFUXXEH s - Ast & FAEHMEEZZ
g 29 7,000,000 7,000
OFXXNHH HZLHE3 3,000,000& 3,000
OSMzx 29 500,000 *43| 2,000
203 2 EFH| 600
R EEEEESTT 600
OANEANHZIES 600,000 600
301 LP A 207,500
11IIEtEA S 207,500
OFUXXEE XJSAX AH 24
25,0003 x600H x 12 180,000
OFUXXIHEH A2 NASAX AL 4 27,500
—E3g 25,0003 *4H 249 24,900
-2 25,0003 «2H «52 2,600
405 THobH S| 6,800
01 AL =2 ZFH S| 6,800
OFURXIME BAM IR (&) 3,800
— QI3 ctolsH 800,000 = 1CH 800
—daZHA 2,000,000 = 1CH 2,000
ARSI 1,000, 000% *1CH 1,000
OHAA WL (AT) 3,000,000 = 1CH 3,000
JEEES Y 20,800
201 £B-2dH| 20,400
01 At 22/l 10,800
OAHEFHYRF=A =EH| 900,000& »12& 10,800
02 22224l 9,600
O322= & HMA AZUHE0S SERS
800,000& »12& 9,600
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2N
X ZH -
L= B

el

- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
405 XHAHFIEHI 400 3,530 A 3,130
01 XAt 2 E F S| 400 3,530 A 3,130
OdYoOI =2 (CHAl) 400,000 = 1CH 400
& S S X& 82,440 82,440 0
301 et A= 82,440 82,440 0
05 sS& -0 AEsEAa3 82,440 82,440 0
Oos&® 75,440
— =g 200,000 23X x143] 64,400
— 3o & = 20,0003 x23H x23| x12& 11,040
OBt 4 25,000 x 140X x23| 7,000
e 252 ot 7,000 7,000 0
301 LBt A= 7,000 7,000 0
09 HAIAHIE A 7,000 7,000 0
OWRSBRUUEI HEL 0K S4Y)
7,000 x50 *x23| x 10 7,000
B & FH 30,000 26,400 3,600
201 Bt 3,600 0 3,600
01 AP 22| H| 3,600 0 3,600
OgHAN = =& Bk 2H| 3,600,000& 3,600
307 giztol A 26,400 26,400 0
04 QIZtSHALE X 2 26,400 26,400 0
OgHA 2 =Ml 26,400,000& 26,400
A2 H2 B2EHED 29 39,731 64,223 N 24,492
101 e1214| 15,031 14,493 538
04 JIZtHIZ22XNSESES 15,031 14,493 538
O&2 42 222 15,031
A=) 40,100 248! 9,945
— X E 40, 100& = 12& 482
-—S35d44 40,100& x53& 2,126
— HE& 50| 500,000& *x23] 1,000
—H2AEEsE= 13,553,000 *2.9% 394
—LoRAYEsE = 394 ,000& *6.55% 26
— 2032 = 13,553,000 *4 . 5% 610
- 11882 13,553,000 *1.5% 204
—AMEEgE 2 13,553,000€ x18/ 1,000 244
201 Bt 7,800 12,800 A5,000
01 AP 22| H| 7,800 12,800 A5,000
OX2T A2 29| 200,000 x12& 2,400
O 29 A2F 3,000,000& 3,000
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MY . B (3H) - NEAY - BAS ofl &t o SSa HDE2
TAZE NEEZ B0 6003 *4,000H 2,400
405 XtabF SHI 16,900 35,430 A 18,530
01 JHML = EFSHI 6,900 25,430 A 18,530
OZd gol™d=ag (A 900,000& = 1LH 900
OM ASI| (&) 6,000, 000& = 1CH 6,000
02 = A7 10,000 10,000 0
OX2EAS T4 10,000& *1,000& 10,000
HAI2H 127,449 106,200 21,249
HAI2E EH| 97,349 91,400 5,949
201 Bt 91,049 86,250 4,799
01 At 22l bl 3,600 3,600 0
Oa-Z2] LBt =FH| 300,000& x12& 3,600
02 3524 H| 87,449 82,650 4,799
OHAFE & HZIZAYI 550& x1,816m 999
03322 ¥ MA 1,800,000& ~12& 21,600
Oatet==22 400,000& x12& 4,800
OJIEt 2222 ¥ HMA 1,200,000 1,200
OEAINAR 2 2,000,000 x12& 24,000
OA & &Hl S X Y| 200,000& x12& 2,400
ORoAHI == 200,000 x12& 2,400
Os2dJl SA2elbl 170,000& x12& 2,040
O&I|IotM 22| CHedH| 160,000& ~12& 1,920
OJIEH Al EHI S XIHI 512,500& 12& 6,150
Ox&E R XYl 300,000& 12& 3,600
OO0IE XK Xl 50,000& x12& 600
OFAMNESY LEtx=FH| 200,000& x12& 2,400
SEAF 2ot 2te| o) 220,000& x12& 2,640
Osx4 U2 && 3,000,000& 3,000
OFAMNASHI 300,000 *23] 600
OLZ: 4 HdE2D| HY| 2,800,000& 2,800
OFAMN M= Ha 400,000& *23l 800
OFA €eltole & Xl & Xl
1,500,000& 14! 1,500
OJIHA Her )| HMHAEX 4R
1,000,000 14! 1,000
OFAN FEEA B 1,000,000& 14 1,000
405 XHabF SHI 6,300 5,150 1,150
01 A&t =S F SHI 6,300 5,150 1,150
O240t013 HME(HA) 2,000,000 x 14! 2,000
OX=4l A (&) 3,500, 000& = 1CH 3,500
OAlE2 M2 (A 400, 000& =24 800
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2N 2F2E
HE: £72S FOUNKME 2
o9 5 BARY )
(o
SA BB (SH) - NRAY - B %@ﬁ 2t
HAIEHH N A 30,100 14,800 15,300
401 AlEHIZL 2 0HY| 30,100 14,800 15,300
01 Al&H| 30,100 14,800 15,300
OFUXXHE S=4 HIEZBA
12,000,000 = 1Al 12,000
OF A HEH E£=Z2A 3,300,000 14l 3,300
OSEAN e=o 29X ¥ 838 &Y
2,500,000 x4l 2,500
OsSEA HIEE A 2,300,000 x14! 2,300
OSEAN EFE A 2,000,000& x14Al 2,000
OFAb HI 7 S=SHAU A
8,000,000 x14Al 8,000
FOIHO| ALY 34,960 0 34,960
A2 HHIZ2A 27,460 0 27,460
401 AlEHIZL £ 0HY| 27,460 0 27,460
01 Al&H| 27,460 0 27,460
Ozx=F S 4512H K HEAE X 2 At
4,400,000 =14l 4,400
OZ=& S 3909H K| HEAE X2 At
4,630,000 = 14! 4,630
O%=& S 38082H K| HEHAE X2 At
1,440,000 = 14! 1,440
O%£=& S 3753H X HESHAE X2 A
1,790,000 = 14! 1,790
O%=& S 3881~38778HX| O|HER EEZAL
2,500,000& *1.6a 4,000
O8I S 4352~43578H X O|HER E A AL
2,000,000& *1.6a 3,200
O8I S 4352~4357H K| Ol DS X 2 A
8,000,000& 14! 8,000
MEstd M| 2,500 0 2,500
401 AlEHIZL 201 Y| 2,500 0 2,500
01 Al&H| 2,500 0 2,500
Ox=Z& S 433281 K S 3MA g€zl &2
BFA A X 500, 000& 574 2,500
OHEAIDME A2 HHI 5,000 0 5,000
401 Al HI L 2 0HHI 5,000 0 5,000
01 Al&H| 5,000 0 5,000
Ox=&S 4445H KX S 5 A BEAIE AX
1,000, 000& *x5JH A~ 5,000
HER2AAH (=E2S) 83,669 77,933 5,736
ol 2 A Y| 30,239 27,343 2,896
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ro o2 4>
10X A

N

=
=]

g

H0 Mo

02 02

=l

2l (=212

SA BB O () - MM - HES il
ol 2AH| 30,239 27,343
101 14 dl 30,239 27,343
03 RIAHAZZAE S 30,239 27,343
Os=0QdH FA2el & 30,239
—Jl=s 1,754,400& =122 21,053
— Z W Z A 90,000& »12& 1,080
— BEF0td| 1,754,400& *100% 1,755
Y B
8, 1903 =1 .58 x15A| 2t x12& 2,212
Csomeag
TFEl_TTO8,190%*1.5HH*8/\|3J*2%*12% 2,359
—Qlx=g 8, 1903 *BAl 2k*19L) 1,245
— M EEZ 29,704,000& x18/1,000 535
|22l 53,430 ,590
JlE2zl 53,430 ,590
201 L2l 21,150 ,800
01 At 22l 21,150 ,800
ORA2gH| 80,000 «11H 128 10,560
OJleas gl 70,0003 *11H 128 9,240
oglg =7 25,000& 30 750
ool thola HEX| & 15,000& =404 600
202 04 HI 19,800 ,800
02 A0y 19,800 ,800
O AN 150,000& x11H 122 19,800
203 R F=&H| 10,040 ,040
01 ) 22L R F=AH 6,600 ,600
OJ|22d =2t 550,000& x12& 6,600
02 At 2 FAH| 440 440
OF AL S = A 40,0003 114 440
04 NI FAH 3,000 ,000
ORA2EIRFaH| 250,000 128 3,000
405 KHAHF SHI 2,440 950
01 XL 2 S FH S| 2,440 950
Ooolgtel XsSH () 2,000,000 =14 2,000
oglg? &X FE (CHAI) 60, 000 *5JH4 300
oolgtel XS24 (&H) 70,0003 *20K 140
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= o
HOZE ol & Ab 2 M A
20148 & 204 LEHSIH L IIEISESH =3P HIXNAY ~ AES
SN BUS
M NYNXSM &2 ZH
Chelr XYXXISM &H42el (&)
_ (o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
His 815,367 426,517 388,850
< 769
Al 814,598
A& XX EH & 0122l S 1,538 0 1,538
< 769
Al 769
NI XX S & 0122l Z| 1,538 0 1,538
= 769
Al 769
HIASANSEEN =& 1,538 0 1,538
< 769
Al 769
101 @124l 220 0 220
< 110
Al 110
04 JIZHHZ2Z2XNESE S+ 220 0 220
OHM63l M= AXNLENH JIZHZZ2A 22
40,0003 1 +5.5< 220
< 110
Al 110
201 Let249] 958 0 958
< 479
Al 479
01 At 22/l 958 0 958
ON6sEl MISAXNLHAN HRFZR det=>ZH|
583,900& 584
< 292
Al 292
OMeal d=SAMALEN I2FA S|
7,000& *10.672+5H 374
< 187
Al 187
202 04l 100 0 100
< 50
Al 50
01 = LH 4 Hi 100 0 100
OHN6zl d=sSAXNLEH dRFE 04l
10,0003 x5H »22 100
< 50
Al 50
203 AR =X Y| 260 0 260
= 130
Al 130
03 AIMZ=XH R =AH| 260 0 260
OHesl MISAXNLLHN HRF=AH|
65,000& *43] 260
< 130

- 134 -




2N

PRSI XIEHH &012el &l
S M Ao 22 3 ?HA)
M. B (3) - MBAY - BAS O 4t 0t il 2
| Al 130
ct dE 29 735,558 387,832
245 356,370 138,700
H 29 233,100 122,050
282 A 32,200 7,200
AFSR 22| bl 22,200 7,200
OFoUXXHEH 23H| 600,000& x12& 7,200
OFOXXFE 3o FHAxG
0,000& *25H x12& 15,000
HAF2 H B 10,000 0
OFUXNXMEH HSLES 3,000,000 * 14 3,000
OFUXNXHEEH e, Ast L FAEMYE =Z2
s 249 ,000,000& *14] 7,000
2=y 600 0
NBEX ARSI 600 0
OANEANH &5 FX 600,000& 600
aetg A= 159,850 82,810
JIEIE &2 159,850 159,850
OFQUXXHE XS AHA AH 24
25,000& *400H x12& 120,000
OFQURXIHE Ald2tel A2 ALA AH 24 39,850
-5y 25,000 *69 249 37,350
—F% 25,0003 *2H x50 2,500
Xt AbE S b 40,450 32,040
NAMLEEFSHI 40,450 32,040
O nd 2HE2E (&) 2,400
— &2 1,200,000& *2CH 2,400
QOHOIEE AE(AMR) 120, 000& *5JH 600
OYEDFAFRI DI (&I 7F) 700,000& =1 CH 700
OZ== FUXXME g2 2HEEE(AR) 36,750
— FOXXIAE CCTV & X 1,500,000& =4 CH 6,000
— FOIXXIAE CHLHOI A 0AA A &Y
2,300, 000& * 14 2,300
224 oX L A NE
20,000,000& *14] 20,000
h2g 2 L Atsl O 400,000 =24 800
HAE O Kt 27 ,500& 2004 5,500
HAD| 150, 000& =1 150
—HHZSHA Hte)) 1,000,000& *2CH 2,000
0 el 29 38,360 16,650
29l 18,360 0
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SN BUS

M dlils FUNXEH 29
G FOUXNXMME E43) (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
01 At 22l ] 9,600 9,600 0
O HRF=A £=2H| 800,000& 12& 9,600
02 352494l 8,760 8,760 0
OZUEOSE RER2 1,750& x36001 x12& 7,560
OJIEt 2ERZ2 250 *400H x12& 1,200
405 XHA&HF S HI 20,000 3,350 16,650
01 JHMY 2 EF S H 20,000 3,350 16,650
Osgolagzad 2 (AlF) 8,000,000 «2CH 16,000
O=ZA(THA) 4,000,000 = 1CH 4,000
S uE gsK8 77,910 77,910 0
301 et A= 77,910 77,910 0
0BCSHE-0/&-EtEes8A3 77,910 77,910 0
os&s4 200,000& x22H *14 3] 61,600
OS&3 9 MG 20,0003 x22H x23| x12& 10,560
Obt&E 4 25,000& *115H 23| 5,750
MR 252 S| 7,000 7,000 0
301 YU B A 7,000 7,000 0
09 HAIAH EA=S 7,000 7,000 0
OMRse BSLo=)| WEAEFHA SAHI|
7,000& x50 23| x 10 7,000
= A2 348,580 130,056 218,524
HAIS2E EH| 76,346 130,056 N53,710
201 YEr2 Y| 75,946 48,856 27,090
01 At 22l ] 8,600 0 8,600
OMatEel LBt=Z24| 300,000& ~12& 3,600
O FUNXMAEYH S22 EZ L HAE HE
5,000,000& *14] 5,000
02 352494l 67,346 48,856 18,490
OAFE A HXAH| 1,100,000& 14! 1,100
O332= % HA 22,200
— M2 1,500,000& ~12& 18,000
— Aol ER2 150,000 ~12& 1,800
—JIEt 2222 ¢ HA 200,000& 12& 2,400
(@)%K=3:] 20,000
—SAIAR S 20,000,000 20,000
OAI& &Hl K XYl 12,146
—&EA I B A2 110,000& *12& 1,320
— H A &322l dl 110,000& ~12& 1,320
—S2dJ|2e U2 170,000& *12& 2,040
— 20 AU 2 313,000 x12& 3,756
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SN BUS
M Hills FUUXNAH 29
Sel S MY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— 2ol FIot £X 110,000& 14 110
—JIEt AIEEHl | 300,000& 128 3,600
O Xl 5,900
— s Xl 300,000 x12& 3,600
— 2 EH 2,300,000& 2,300
OFAEAALS 2,000,000 2,000
OFAL 28 & e EA 3,000,000& 3,000
O=IINE E== & 2D MA 1,000, 000& 1,000
405 XtatE SHI 400 0 400
01 AR ESFH S 400 0 400
O EXY SHYUA(AMR) 400, 000& = 1CH 400
AL 272,234 0 272,234
401 A& HIZ 201 Y] 265,056 0 265,056
01 A& HI 265,056 0 265,056
OFM 2228 &£ &2
230,000,000& =4 .22% 9,706
O&EA 2228 A 230,000,000 » 14 230,000
OZ= FUXNXEH 82 SctelE &X At
19,350,000& 14 19,350
O&=9 AHAL &X 6,000,000& »14! 6,000
405 XHoHF S HI 7,178 0 7,178
01 AL EZFH S 7,178 0 7,178
OXNE 394 &X L oK HME(&R)
6,200,000 =14 6,200
OQIAINE L SHEZE MUl (&)
163,000& 64 978
FQIE O ALY 30,608 0 30,608
272 FHISA 8,608 0 8,608
401 AIEHI L 2 CHYI 8,608 0 8,608
01 A& HI 8,608 0 8,608
ottdiiz ¢& s EX==clll MA
5,100, 000& 1Al 5,100
O==2 €% S =dilibl L=20 =L&3AM
2,100,000 1Al 2,100
OHUts 167-181 X 2 1A 2aHE WA
704,000 *2H 1,408
SHE AN AIE=S EHI 22,000 0 22,000
401 Al HIZ 201 8] 22,000 0 22,000
01 A& HI 22,000 0 22,000
O==22 22 sdz 93 s 0INELXN SA
22,000,000& » 14! 22,000
HY2AZH (HUS) 78,271 78,791 A 520
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SN BUS
HE: HYRIFH(HUS)
gel: o2yl eEH)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ol 2 gl 35,911 33,733 2,178
ol 2A| 35,911 33,733 2,178
101 @14 Hl 35,911 33,733 2,178
03 RIAHAZZ2 T+ 35,911 33,733 2,178
Os=QdH FA2el & 35,911
—JlZs 1,975,680& 122 23,709
— ZHZ A 90,000& 128 1,080
— BE S0t 1,975,680& *100% 1,976
—HEFY 130,000 =128 1,560
L ECELE
9,170& «1 .58« 15A1 2t 128 2,476
- pYIR4y
9,170 1 .58 *BAl 2t x22 12 2,641
— XY 9, 1703 *BAl 2H+252 1,834
—dTHEEZ 35,276,000% *18/1,000 635
|2 ZHl 42,360 45,058 AN 2,698
JlE&l 42,360 45,058 A2,698
201 £B-2%H| 16,200 16,200 0
01 At 22l 16,200 16,200 0
OFM2gHI 80,000 «9H 12 8,640
O=2gl 70,0003 «9H 12 7,560
202 04 Hl 16,200 16,200 0
02 MO 16,200 16,200 0
OEHH 150,000& x9H »12& 16,200
203 R =&l 9,960 9,960 0
01 122 =4 6,600 6,600 0
OJIZ2g YR8 550,000& »12& 6,600
02 et S = &H| 360 360 0
OIS R F= &I 40,0003 94 360
04 FN2ELRZ=TH| 3,000 3,000 0
ORM2IYRFLH 250,000 128 3,000
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20144

AN & O

H
r
=
Z_

A LB DJIEFSESH =37 ™

SN NES

g & M A

N2 X XXISH &H2elE
SR KSR S &0{2elF (2 &HH)
_ (o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ME S 507,471 446,579 60,892
= 761
Al 506,710
NSRS &0122 E ] 1,521 0 1,521
= 761
Al 760
NI SH & 422 Z 1,521 0 1,521
= 761
Al 760
HNI2ESANANYEHH =& 1,521 0 1,521
= 761
Al 760
101 e1214| 220 0 220
o 110
Al 110
04 JI2ZtHIZ22 NEES 220 0 220
OHNb6al EZ2SsSAIXNEEH JI2HH2 2R 2182
40,0003 x1H x5 5 220
== 110
Al 110
201 LBt | 941 0 941
< 471
Al 470
1 AR 22| d| 941 0 941
OHMBel EZSAXNEEH dR=8 dBtx=2H|
566,400 567
= 284
Al 283
OHMBE =S AXNEENH RFE S|
7,000 *10.67L x5H 374
== 187
Al 187
202 044 100 0 100
o= 50
Al 50
1 =2 WYl 100 0 100
OHM63l d=2SAANSEH S2=& 0]
10,000 x5 %22 100
o=t 50
Al 50
203 AR =X Y| 260 0 260
= 130
Al 130
03 AIZH =& 2= X H| 260 0 260
OHN63l d=2SAMANLEH S2F=XH|
65,000& *43] 260
o= 130
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N AXISHA A4 2el AZd|
XXX SHA &1 2tel d ] )
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
| Al 130
= FOXXEH 24 432,500 375,170 57,330
OI XX &E 435 280,845 241,010 39,835
FOXXAEH 2E 185,225 142,390 42,835
201 gBt24d| 33,400 27,400 6,000
01 AP 22| H| 23,400 17,400 6,000
OFoI XX A&AH 700,000 x12& 8,400
OFQXXAZ 3o & Al
50,000 x25% x12& 15,000
03 A2 HH| 10,000 10,000 0
OFUXXNEEH HZLET 3,000,000 3,000
OFUXNXHH nE -Ast L HAEHE T2
e 29 7,000,000& 7,000
203 ¥ 2 =&XH| 600 600 0]
03 Al ZH =& 2 = X H| 600 600 0
OAME A=A ESH| 600,000 600
301 LBt A= 124,975 100,040 24,935
11 JIEtE A= 124,975 0 124,975
OO0l XX HH ASAFRH(ZAF) A HI 24
25,000 x350H ~12& 105,000
OFCIXXHEH Ad2e N2 ALR AH 24 19,975
—EHa 25,000 »3% %249 18,675
- =a 25,000 124 52 1,300
401 A& HIZL 2 0HY| 13,000 1,000 12,000
01 Al& b 13,000 1,000 12,000
OER WA &2Z AMIE Ols SAH
13,000, 000 « 1Al 13,000
405 XHAHFEIEHI 13,250 13,350 A 100
01 AL EEFHEH 13,250 13,350 A 100
S T PPN, e 53122 (87F) 4,850
— &322 1,200,000 =3CH 3,600
EtRE A2 250, 000& =574 1,250
OgAX YN 2,800,000 *3CH 8,400
DIAAHL2He 89 20,400 23,400 A 3,000
201 Bt 20,400 20,400 0
01 AP 22| H| 9,600 9,600 0
OIAHHALF 800,000 12& 9,600
02 B232%H| 10,800 10,800 0
OelZ&EI & 2= 900,000 x12& 10,800
s, 8t 251E 68,220 68,220 0
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=

=)
g8 FLUXXHE
BITtRIME o3t

02

Mo

A== S9(3H) - NEAY - BaS ﬁlf& HD=2
301 dEtE A= 68,220 68,220 0
05 S& - 0| & - Bt BM= 68,220 68,220 0

Os& 62,320
— =g 200,000 x19H x14 3] 53,200
— 3O &AM 4 20,000 x19Y »23| x 128 9,120

Obt& 4 25,000& 118 23| 5,900

fR&t 252 =D 7,000 7,000 0
301 Bt A= 7,000 7,000 0
09 AL HIBAZ 7,000 7,000 0

OlRse=2= 20t A 2O 24 M2

7,000& x50 23| x10& 7,000
HAMNESH 121,660 134,160 A 12,500
HAMSHZ I 121,660 134,160 A 12,500

201 Bt A H| 119,060 116,260 2,800
01 At 2t2l ] 10,800 10,800 0

OFAL&2| LBt 400,000 x12& 4,800

OIpAH T off 22 WA

1,500, 000& =4 LH 6,000
02 3524t 108,260 105,460 2,800

OAFE A HXAH| 3,000, 000& x 14! 3,000

o232 ¢ 39,600
—MIR22 2,500,000 x12& 30,000
— MO ER3 550,000& ~12& 6,600
—JIEt 332= HI Al 250,000& x12& 3,000

O9HZHl 42,000
—SAIIAR S 3,500,000& x12& 42,000

OA& &l S XYl 18,860
— H AR Xl I 400,000 x12& 4,800
— 20ldHI =2 150,000 ~12& 1,800
—Mo|etE e =2 160,000& x12& 1,920
— AU EAH 42 120,000& ~12& 1,440
—52&)| &3 ¥ A2l

200,000 x12& 2,400
— &3 X HAH 900,000& *13] 900
— =83 FHAH 400,000& *23l 800
— JIEt A& & B3 XYl 400,000& x12& 4,800

O XH&kd| 4,800
— XS X 300,000& ~12& 3,600
— 0l E XS XY 100,000& ~12& 1,200

A& HI % = Ot 2,600 17,900 A 15,300

01 Al&H| 2,600 17,900 A 15,300

- 141 -




SN NS
HEM: MHS FOUXNXNMEH &9
Sel S MY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ORIJFEXE W A2 20 E=Z2A
2,000,000& x14l 2,000
Oz & &X3A 600,000& * 14! 600
=0IEHO| AlY 29,995 0 29,995
A2 HUIZ2A 4,494 0 4,494
401 Al HI L £ 0HHI 4,494 0 4,494
01 Al& b 4,494 0 4,494
OdttEd S 2169H X 2| 5340 A 42 =& 2 A
8,400 x5357} 4,494
CHEADNHE AIEE2 HHI 25,501 0 25,501
401 AlEHIZL £ 0HY| 25,501 0 25,501
01 Al&H| 25,501 0 25,501
OdttdES 518X 2 1 OIDNEEX AlEZ A
41,600 »613m° 25,501
HER2IAH (MES) 73,450 71,409 2,041
ol 2HH| 31,090 29,049 2,041
ol 2AY| 31,090 29,049 2,041
101 e1214| 31,090 29,049 2,041
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OYAEA HIAE SA 20,000,000 14 20,000
O AEAL CCTV Ol ™ & XIS Al
1,300,000% * 14! 1,300
OSAEFEA AIE 228 0|dEX
1,000,000% *34! 3,000
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2N
X ZH -
L= B

el

AE=ES

MNES

dMES FUNIINMAE 22
= BAN2Z

= _ — d =
SA - B (SA) - MRAY - BYS e 2
OSANEAL ST ST O|HEX
5,500,000 14! 5,500
OSAMNEAL SEHAIE O|HEX
5,000,000 1Al 5,000
OSAME AL &L EX 1,200, 0003 * 14! 1,200
OFAL A&E EIiHl 1,000, 0003 * 14! 1,000
OANEA Fa=7H] 15,000,000& 14! 15,000
O&1 ¥ EAHLD AEtAX] 5,000, 000 14! 5,000
Ol &X 10,000, 000& * 14! 10,000
OReIFHIAIZ OIdEX 1,000, 0003 * 14! 1,000
QI EOI ALY 3,889 3,889
L2732 ZHISM 2,145 2,145
401 AIEHI L 201 2,145 2,145
01 A& HI 2,145 2,145
OtES 23 0|82 dseol =4
6,500 *330H & 2,145
MEEH FH| 1,744 1,744
401 AIEHI L 20 1,744 1,744
01 A€ HI 1,744 1,744
ozgetnzg o1 =&Y 530& +3,290m" 1,744
HYRIZH (MES) 62,384 1,949
el 2 HH| 30,944 1,949
QA2 30,944 1,949
101 @14l 30,944 1,949
03 RIHAZ 22 30,944 1,949
OsFQUdH FA2el& 30,944
—Jles
(1,772,840& 9% )+(1,791,290& =38 ) 21,330
— ZUzg A 90,000& 122 1,080
— Y EEY
(1,772,840&+1,791,290& ) *50% 1,783
— &= 20,0002 128 240
R L=
(8,270 x9H +8,350 & x3& )+ 1. 581 x15A1 2+ 2,239
L
(8,2703 *9F 48,350 *3& ) * 1.5Hi *8Al 2 2 2,388
ol
— XY 8,350& *BAl 2t+20 1,336
—MHEES 30,396,000& x18/1,000 548
=& Hl 31,440 0
JlE&l 31,440 0
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= ROk ROKE ROKE
ol K- O K OF K- OF
oF T D OF & OF & 0OF a
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= o
A & 0l & AF 2 E A A
20148 & 204 LEHSIH L IIEISESH =3P HIXNAY ~ AES
2N DES
M NYNXSM &2 ZH
Chelr XYXXISM &H42el (&)
_ (o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
nss 262,613 226,655 35,958
< 666
Al 261,947
A& XX EH & 0122l S 1,331 0 1,331
< 666
Al 665
N YIRS &2 3| 1,331 0 1,331
< 666
Al 665
HIASANSEEN =& 1,331 0 1,331
< 666
Al 665
101 @124l 220 0 220
< 110
Al 110
04 JIZHHZ2Z2XNESE S+ 220 0 220
OHM63l M= AXNLENH JIZHZZ2A 22
40,0003 1 +5.5< 220
< 110
Al 110
201 Let249] 751 0 751
< 376
Al 375
01 At 22/l 751 0 751
ON6sEl MISAXNLHAN HRFZR det=>ZH|
376,300 377
< 189
Al 188
OMeal d=SAMALEN I2FA S|
7,000& *10.672+5H 374
< 187
Al 187
202 04l 100 0 100
< 50
Al 50
01 = LH 4 Hi 100 0 100
OHN6zl d=sSAXNLEH dRFE 04l
10,0003 x5H »22 100
< 50
Al 50
203 B R =&l 260 0 260
< 130
Al 130
03 AIMZ=XH R =AH| 260 0 260
OHesl MISAXNLLHN HRF=AH|
65,000& *43] 260
< 130
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2N DES
M NYNXSM &2 ZH
S XY dH2el 3| (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
1] A T30
lss FUNXEEH 22 194,660 162,640 32,020
FOXXIMEH &4 35t 154,920 129,600 25,320
FURXAEE 29 91,200 65,890 25,310
201 £B-2%H| 23,800 17,800 6,000
01 At 22l 19,800 13,800 6,000
OFQUXXEEH 29 400,000 x12& 4,800
OFUXNXAAS 3o &EA2Y
50,000& «25H «12& 15,000
03 &Ar2 I 4,000 4,000 0
O XXHH HZLHE3 2,000,000 2,000
OFQUXXHE A & WRF 2,000,000 2,000
203 YR =& 600 600 0
03 Al F=XH R =AY 600 600 0
OANEANH &5 =& 600,000& 600
301 et a3z 64,800 46,840 17,960
MIIEE43 64,800 0 64,800
OFLUXXIEE XJSAX AH 24
25,0003 x170H «12& 51,000
OFAUXXHAEH A2l NASAR A2 4 13,800
—E3g 25,0003 x2H 250 12,500
-2 25,0003 « 1«52 1,300
405 XHobF S HI 2,000 650 1,350
01 AL ESFH S 2,000 650 1,350
OSRH0I0I A AE (M) 2,000,000 = 1CH 2,000
QEeHdel 24 11,050 10,200 850
201 Let24E] 10,200 10,200 0
01 At 2t 2l 8,400 8,400 0
OUEMEADEA 48H 700,008 *122 8,400
02 232gHl 1,800 1,800 0
03322 4% MA(RER2) 150,000& «12€ 1,800
405 XHoHF S HI 850 0 850
01 At EZFH S 850 0 850
Oz, sx2 ¢=28 Zed(tA)
850,000& = 1CH 850
s, 8& 23X 30,870 30,870 0
301 gt d= 30,870 30,870 0
05 S& -0 -EtEEs2E 30,870 30,870 0
OF=FSE=y 200,000& x9H x143| 25,200
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AN 1SS
M DSE FANKME 2
¢ FUXXME &85t CEERED)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
OSE 3o & 9 20,0002 x99 »x23| x12& 4,320
Oet& 4 25,0003 *27H 23] 1,350
MRt =252 US| 4,200 5,040 N840
301 dEtEAZ 4,200 5,040 A 840
09 HALAHIBEA = 4,200 5,040 N840
OMREBSUALISI| HEA O SAH|
7,000& x30H 23| *10& 4,200
HAM EEM A 17,600 17,600 0
307 212t01 & 17,600 17,600 0
04 A2tHAIE X = 17,600 17,600 0
OFAA(NZ) E2ZM A 17,600,000 x13] 17,600
s FAN2Y 31,840 33,040 A 1,200
HAI2E E Y| 27,840 27,040 800
201 Bt A | 27,440 26,640 800
02 35244l 27,440 26,640 800
OHFE A HX A 600,000& *13] 600
odIIe=2 800,000& x12& 9,600
O4,otx=2=3 30,000& x12& 360
OJIEt 3322 £ MAl 300,000 300
O&A g Y s X4l 400,000 x12& 4,800
ORoAH A= 225,000& 12& 2,700
OJIE Al & Bl R X Bl 200,000& x12& 2,400
OX& = XYl 300,000& x12& 3,600
oxgeEga 1,400,000& 13| 1,400
OO0l & XK Xl Hl 40,000& x12& 480
OFAMNSI B 2Y| 100,000& = 12& 1,200
405 XH&HF SHI 400 400 0
01 A&t =S F SHI 400 400 0
OTSIEY S A(AF) 400,000& ~1H 400
HALEZEON A 4,000 6,000 A 2,000
401 Al HI YL 2 0HHI 4,000 6,000 A 2,000
01 A& HI 4,000 6,000 A 2,000
OF AL HHYAIA 22| 2,000,000 * 14! 2,000
OstAdzdsy 22| 2,000,000& * 14 2,000
Z=01H Ol A 7,900 0 7,900
A2 E FHISA 3,000 0 3,000
401 Al HIL 20| 3,000 0 3,000
01 A& HI 3,000 0 3,000
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AN 1SS
M Dss FUMNXNLH 29
9l FOIHOIAY CER-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Olss 432-781 XY S 210014 Sl=20l &
= 3,000,000 » 14! 3,000
MEEZH ZH 4,900 0 4,900
401 Al&HI & 28I 4,900 0 4,900
01 A& HI 4,900 0 4,900
O&dHEA H=&HY 140 *17,500 M *23| 4,900
HY2AZH(LES) 66,622 64,015 2,607
ol 2 gl 34,942 32,575 2,367
ol 2A| 34,942 32,575 2,367
101 @124 Hl 34,942 32,575 2,367
03 RIAHAZZ2 T E =+ 34,942 32,575 2,367
Os=0dH FA2el & 34,942
—Jl=s 2,012,580& x12& 24,151
— Z W Z A 90,000& »12& 1,080
— BE S0t 2,012,580& *23| *50% 2,013
—NAeRRLY
9,3403 «12& 1. .58« 15A1 2¢ 2,522
e ELES-
9,340 «12& 1.5 +BAl 2tx2Y 2,690
—Qx=g 9, 3403 *BAl 2k*25 1,868
—dHEE=E 34,324,000 *18/1,000 618
JlEZl 31,680 31,440 240
Jl2Zl 31,680 31,440 240
201 Let2d] 10,800 10,800 0
01 At 22l 10,800 10,800 0
ORA2gH| 80,0003 «6H «12& 5,760
OJlEs gl 70,0003 ~6H x12& 5,040
202 oddl 10,800 10,800 0
02 2N 10,800 10,800 0
OEHo 150,000& x6H 122 10,800
203 YR F&H| 9,840 9,840 0
0122 PR =8| 6,600 6,600 0
OJ|22d R FaH| 550,000& »12& 6,600
02 A H R =X 240 240 0
OFIMLLFTY| 40,0008 6% 240
04 BENSSIHRFEHI 3,000 3,000 0
ORA2EIRFAHI 250,000 128 3,000
405 RHoHF S HI 240 0 240
01 XL 2 ZFH S| 240 0 240
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= o
A & 0l & AF 2 E A A
20148 & 204 LEHSIH L IIEISESH =3P HIXNAY ~ AES
2M: AMES
M NYNXSM &2 ZH
S XY dH2el 3| (&)
_ (o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
NES 325,662 236,004 89,658
< 669
Al 324,993
A& XX EH & 0122l S 1,337 0 1,337
< 669
Al 668
N YIRS &2 3| 1,337 0 1,337
< 669
Al 668
HIASANSEEN =& 1,337 0 1,337
< 669
Al 668
101 @124l 220 0 220
< 110
Al 110
04 JIZHHZ2Z2XNESE S+ 220 0 220
OHM63l M= AXNLENH JIZHZZ2A 22
40,0003 1 +5.5< 220
< 110
Al 110
201 Let249] 757 0 757
< 379
Al 378
01 At 22/l 757 0 757
ON6sEl MISAXNLHAN HRFZR det=>ZH|
382,540 383
< 192
Al 191
OMeal d=SAMALEN I2FA S|
7,000& *10.672+5H 374
< 187
Al 187
202 04l 100 0 100
< 50
Al 50
01 = LH 4 Hi 100 0 100
OHN6zl d=sSAXNLEH dRFE 04l
10,0003 x5H »22 100
< 50
Al 50
203 B R =&l 260 0 260
< 130
Al 130
03 AIMZ=XH R =AH| 260 0 260
OHesl MISAXNLLHN HRF=AH|
65,000& *43] 260
< 130

- 164 -




SN NES
o NSMASH S22l B
X

Sl XXX &012telAd | (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
L1 A T30
ANEES FOUXXNEH 24 260,441 174,772 85,669
FOIXXHE 245 167,370 108,090 59,280
FOXXAEH 2E 84,300 64,600 19,700
201 gBt24d| 23,800 17,800 6,000
01 AP 22| H| 19,800 13,800 6,000
OF0XXHAEH 2Hd| 400,000& ~12& 4,800
OFQXXAKG 39 ZAMICH
50,000 x25% x12& 15,000
03 A2 HH| 4,000 4,000 0
OFUXXNEEH HZLET 2,000,000 2,000
OF0 XXM Ast & WE 2,000,000 2,000
203 € R F & 600 600 0
03 AIZH =X H 2 F X H| 600 600 0
OANZBANHFZX 600,000 600
301 et A= 57,500 41,200 16,300
11 J|EtE A2 57,500 0 57,500
OFOXXAE XNSSAFA AH A
25,000 *150H x12& 45,000
OF0XXAE Aldze] XNFSAA B4
25,000 2 x250 12,500
405 XHoHFE S HI 2,400 5,000 A 2,600
01 XA 2B F S| 400 3,000 A 2,600
Oal"E X (A7) 200, 000& x2A! 400
02 = A 72| 2,000 2,000 0
OX2TAE2Y TAHAFY 2,000,000& 2,000
DIAHL2He 29 10,200 10,200 0
201 gEt24H | 10,200 10,200 0
01 AP 22| d| 8,400 8,400 0
OQIAAHADRER £2Y  700,0002 *122 8,400
02 2% 4| 1,800 1,800 0
oRER2 150,000& ~12& 1,800
s B 213 30,770 30,770 0
301 LBt A= 30,770 30,770 0
05 S& -0]& -BtEEsEAZ 30,770 30,770 0
Os&dsd 200,000 x9H %14 3| 25,200
OEHF o EHA4LEH 20,000& x9Y »23| x12& 4,320
OBt& =& 25,0002 x25% x2 3| 1,250
MRE 232 S| 2,100 2,520 N420
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2A: Al
Al

g A 24
¢ FUXXME &85t CEERED)
= d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 et a = 2,100 2,520 A 420
09 HALAHIE& S 2,100 2,520 A 420
OMR&==2ZUSI HEx O S4dl
7,000 *30H «10& 2,100
ANES SHEIEH A 40,000 0 40,000
307 glz2tol & 40,000 0 40,000
04 QIZtHAIE X = 40,000 0 40,000
OANEs St=H A 40,000,000& 40,000
S FN2Y 59,161 66,682 AT7,521
A2 3 41,161 37,682 3,479
201 L4l 38,011 37,132 879
02 =224l 38,011 37,132 879
OH=EE AHEH XA 550&+1,416m 779
OFSPIN= 800,000& »12& 9,600
Odst=E= 50,000& »12& 600
OP)Fay=1 900,000& »12& 10,800
OJIEtE=2e23 & HA 500,000 500
Ooxg=2d 900,000 = 1CH 900
O &t2te| = Z 4l 400,000 x12& 4,800
o 89& 176,000 122 2,112
OdJjetEzte] e+ 2 60,000 128 720
OsZdlIsANEe =2 200,000& 128 2,400
OLYotdEH =22 100,000& = 12& 1,200
OXg =Xl 300,000 * 122 1 CH 3,600
405 TtabF S| 3,150 550 2,600
01 AL EFH S 3,150 550 2,600
Q#AE EXH(& ) 55,000 =304 1,650
OJZEE S RH(HA) 600, 0002 =14 600
OO0l Z=II (&) 500,000 = 1CH 500
OZEXT SHYUA(AMR) 400,000 = 1CH 400
AL 18,000 29,000 A 11,000
401 Al HI L 20l 18,000 29,000 A 11,000
01 A& HI 18,000 29,000 A 11,000
OANsgd ¥ =X 2e|
10,000, 000& 10,000
Oosgsd X 3,000,000& 3,000
onzg &#&8
,000,000& » 14 5,000
Ol=RAH 33,910 0 33,910
AR2 ZHIBA 27,550 0 27,550
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SN NES
M ANEs FUNXNLH 29
Sl FUSHAY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al I 28I 27,550 0 27,550
01 A& HI 27,550 0 27,550
OAES 17-82H X2 700014 20l &4
6,500& 7004 4,550
OASS 33481X12 20A OS2 E22
2,300,000& x10a 23,000
MEEHH Z 6,360 0 6,360
401 A& HIZ 201 I 6,360 0 6,360
01 A& HI 6,360 0 6,360
OW=UHZE2 6L HMEXY
530& *6,000m" *23] 6,360
HYRIZHI(MNES) 63,884 61,232 2,652
el 2l 32,444 29,792 2,652
ol 2l 32,444 29,792 2,652
101 @124l 32,444 29,792 2,652
03 I AHA2ZZ2HE > 32,444 29,792 2,652
OSFOME HAZ2 32,444
—Jles 1,865,050& »12& 22,381
— W Z A 90,000& 128 1,080
— ZE S| 1,865,050 & *50%*23] 1,866
—JtE=E 20,0002 128 240
S EEEC
8,680 «12& «1.58H «15A] 2¢ 2,344
~RY224g
8,680 x12& 1.5 +BAl 2t»2L 2,500
—Qlx=g 8,680 «8Al 2+x212 1,459
—dHEES 31,870,000& *18/1,000 574
Jl23dl 31,440 31,440 0
JlE2&tl 31,440 31,440 0
201 et 10,800 10,800 0
01 At 22l 10,800 10,800 0
ORN2gHI 80,000 «6H 12 5,760
OJles gl 70,0002 «6H « 122 5,040
202 o4dl 10,800 10,800 0
02 M0 10,800 10,800 0
O Ho 150,000 x6&H x12& 10,800
203 YR =&y 9,840 9,840 0
01 JIZ22Z YR8 6,600 6,600 0
OJI228 =4l 550,000 12& 6,600
02 A& H =& 240 240 0
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22X ANES

M HHR2IAZHI(NES)

chelr D123l

= - - SHE|
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 e
OISR F= &Y 40,0003 6 240
04 ENSIHRF=EHI 3,000 3,000

ORA2EIRFAH| 250,000 128 3,000
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